1 | 2 3 4 5 6 7 8 [ 9 [ 10
DRAWING| REV. THIRD ANGLE
vl J10—382010 ] 2 DO NOT SCALE | -(@)-F—F- wrokcnon |IF IN DOUBT ASK
25.0(0.98") p3! p4! A
® ”
15.0(0.6) N 11.00(0.43")— ©
—_—_ ’/
I 1 J L [
o 0 | == — |
’ e L, [ ] '
15.0(0.6”) FXG. SLOT FOR 53 -|A A|- ”
M5 SCREW
9.00(0.35") —
HHTE=— VARICHD _
: T 1/10.002°[D )
J; i; 14.0(0.55')J
20.0(0.79")-
OVERALL SCALE LENGTH MINIMUM = TRAVEL LENGTH + 187(7.4") ]
SINGLE END SCALE MOUNTING
Left and right hand versions available. Serial Number 752957)
Mark End @ 65.5(2.58") 475019
o 770 [0 © c
MADZ3ABM 1/10.002°[D
P2
360" Rotationdl 12(0.5")/15(0.6") L
Adjustment . A [N]EW: U U )
_ pEp— - —— B ™
_E — Microsyn 2G -~ /I —
o) 10 s 8| O
r— P Lo olcaster
Y 12.7(0.5")
~- 30.127) ®
Adjustment 21.0(0.83") L13.4(0.53") D
31.001.2" »
(7) L 24.0(0.95")
L-35.0(1.38")
g]: Pillar end mounting points 65.5(2.58") | |—4.75(0.197)
|| TIo M6 x 12 deep ||
- C'Bore #6.5 X 2 deep 18007 / 20008
20(0.79") .
Adjustment 12.7(0.5") Al
otational, Short pillar 15(0.6") I Py o Fm—‘—
aopstmen Long pler 20005 . === o eummmmmr—— °
f both {ogether | MN. 9(035") T | \r / . .
for extended length | MAX. 22(0.87") Y
SCALE MOUNTING BRACKET ADJUSTMENT of 35(1.4") I 05.75(0.23")
20.0(0.79"H oo 72
13(0.51") —— ®
Mountings "A”
#4.2 THRO' & C'BORE ¢7.5 x 4.5 DEEP
each side of housing to accept
M4 cap head screws.
A — Encoder head mounting points 20ff for M4 cap head screws (clearance holes through). F
B - Encoder head mounting points 2off for M4 screws (thread depth 8).
C - Scale pillar mounting studs M6 x 10 (use spacer washer as required).
D — Machine Guideway.
E/F — Encoder head mounting faces.
G — Indicating parallel alignment required between encoder head and axis travel.
] H - Scale end mounting points to machine bed. DIMENSIONS — mm (ins”) ]
P — Installation alignment points.
FOR FURTHER INFORMATION REFER TO INSTALLATION MANUAL
TITLE MATERIAL/ FINISH SCALE | UNLESS OTHERWISE ~ TOLERANCES: - 0 becwAL pLAceS o3| C
L cuts LimerariRe orawmnes for MORISIY M5 M e e 2
DIMENSIONS ARE IN MM. ANGULAR 1"
2 | 7113 [ ECN9370 |IMPERIAL FIXINGS REMOVED, NOW METRIC ONLY  CWH DRAWN|J.DRIVER |18—08—04 THS DRAIKG I TIE PROPERTY OF SHEET  |DRAWING REV.
1 [27-5-10[ Pre-prod [DRAWING REVISED TO SHOW MICROSYN M2G JFD CHECKED . NEWALL Mﬂm%?m%mm —
REV.ISS] DATE | CNNo. ALTERATI|ON I |REV.ISS] DATE [ C.N.NoJALTERATION APPROVEDl Lrlcester England HTHOT VRITEN PEMSSIN 1 OF 1 |NUWGRR \7)|1 6 8201 O ISS. 2
1 2 3 4 5 6 7 8 9 10




